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10. Find both missing sides and the missing angle.
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Scientific Notation 245, 009000

11. What does 2.45x10”° mean? Expand it.
12. Fill in the blanks to make the equation equal.

a. _3.1 x10%=31000,

b.,000205 x10° = 205 000205
c. 642107 —Gq,zno,go,o,owp ;

d.,015.000, 10'6 05

e. 7.14x = 7,140,000,

£008.450 - lO_ 100845
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nit conversion

13. Convert 160 centimeters to
a. meters
b. millimeters

i
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kilometers

. mches

feet

a. days

b. hours
¢c. minutes
d. seconds
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(@365=3.65%10 day 63 | 1§+

(b) 8,760=8T76*1p* h

(Q) 325,600 = 3.256%I0°
(d) 3.\53x10's
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Variable Relationships ( Graphing)
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